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M ®m A (HAZ: T - %)
K FIERTORE | R FHIERE 7t MRk L
1 i i 19,611, 601 42. 1 19, 611, 601 42.0
2 M 5 E 5 B 168, 501 0.4 168, 501 0.4
3 A H & AT & 23, 000 0.0 23, 000 0.0
4 B Y OB R AT & 115, 000 0.2 115, 000 0.2
5 %K %f P %‘ij 75, 000 0.2 75, 000 0.2
6 M7 IH B A A & 2, 000, 000 4.3 2, 000, 000 4.3
7 AN TGRS 4 26, 000 0.1 26, 000 0.1
8 H Bl L B A5 Bl AL AT 4 45, 001 0.1 45, 001 0.1
9 BRBE M RE B T & 16, 000 0.0 16, 000 0.0
10 !?ﬁﬁ% E; ] Tfi;ji 13, 349 0.0 13, 349 0.0
11 H J5 % f 22 £F & 232, 000 0.5 232, 000 0.5
12 5 &2 fF B 630, 000 1.4 630, 000 1.4
132\ ﬁi{f%ﬁi 11, 000 0.0 11, 000 0.0
14 & KA HEE 480, 112 1.0 480, 112 1.0
15 i 1 BF & O F 208k 876, 010 1.9 876, 010 1.9
16 X M & 10, 088, 770 21.6 51, 800 10, 140, 570 21.7
I7HE <X & 6, 461, 342 13.9 3,500 6, 464, 842 13.8
s8H  E I A 6, 963 0.0 6, 963 0.0
19 % it & 13, 800 0.0 50, 000 63, 800 0.1
20 i A & 2,127,315 4.6 3,500 2,130, 815 4.6
21 & ik & 400, 000 0.9 400, 000 0.9
22 § I A 1, 326, 236 2.8 1, 326, 236 2.8
23 11 f& 1, 875, 000 4.0 1, 875, 000 4.0
w AN & 46, 622, 000[  100.0 108, 800 46, 730, 800  100.0
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(BAL: TH - %)

K MERTOR | FER fHIERE it HER L
1 % = # 357, 401 0.7 357, 401 0.8
2 B % # 5, 386, 798 11.5 30, 000 5,416, 798 11.6
3R 4 # 21, 856, 593 46.9 21, 856, 593 46.8
4 f s # 3,903, 056 8.4 3,903, 056 8.3
5 9 i) # 78, 709 0.2 78, 709 0.2
6 #k # 45, 145 0.1 45, 145 0.1
7 P T # 368, 092 0.8 51, 800 419, 892 0.9
8 + 7N # 2,457,114 5.3 2,457, 114 5.2
9 H %3] # 1, 854, 543 4.0 1, 854, 543 4.0
10 # G 7 8,111, 965 17. 4 27,000 8, 138, 965 17. 4
1% F #®# B O#H 1 0.0 1 0.0
12 28 f& 2 2,132, 583 4.6 2, 132, 583 4.6
13 7 fii 2 70, 000 0.1 70, 000 0.1
w A& 3 46,622, 000|  100. 0 108, 800 46,730, 800|  100. 0

3) MERIRL (AL T - %)
X FHERTOR | MRk fHIERE it MR
N 1 # 5, 659, 556 12.1 5, 659, 556 12.1
2% 4 # 7,073, 212 15.2 22,100 7,095, 312 15. 2
3 FOM & & 296, 226 0.6 296, 226 0.6
4 B % 15, 871, 225 34. 1 15, 871, 225 34.0
54 B B F 3, 175, 930 6.8 36, 700 3,212, 630 6.9
6 m R T KR 6, 202, 524 13.3 50, 000 6, 252, 524 13.4
TR HFEIB R EE 1 0.0 1 0.0
8 /A f& # 2,132, 583 4.6 2,132, 583 4.6
9 ST & 1,418, 743 3.1 1,418, 743 3.0
10 4 H 4 4,722,000 10. 1 4,722, 000 10. 1
117 fis # 70, 000 0.1 70, 000 0.1
o HOA F 46, 622, 000[  100.0 108, 800 46,730, 800|  100. 0
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(1) BATE (BN7:TH)
= fHIEEE M IE 2 T E A
6CEEXZHE 51,8007 L X 77 A fFE L A 5 E il Bh A ke 51, 800 |#iBh=10/103%
178 % W e 3. 500 ;fi\ B =T B 720195 R RIS S5 3, 5001 1/25%
19F W £ 50,000 = X = =F ¢ N AEAFEETEMH 4 30, 000 |fE A 1 14
T BN [X] EAE B 2R E 4 20, 000 |fE A 1 {4
208 A = 3, 500| 4 Bl £ 4 g A 41 3, 500
mASET 108, 800
(2) REFTE(MEHNAR (BN7:FH)
R 5 |, PEE W TN & @
oM B (52,5(1)8? FU R T I e 15, 100|E B 410/105%
15iEMRE (EER) 1 1, 420
VAT LB 6, 560
BREHEY 7,120
T 7 —U—)L K v 720196506 B F 3 7, 000 | Bl MfiBh 421/ 23%
N7V I Ea—A 7 BREE 6, 500
e AT st 500
R R B RN e e 36, 700{EHE 4210/ 103
T EE % 50,000{ _ 5 _ _— . S
6 z o= = ) a3 =7 4 NAREA 30, 000 |5 7& % bt 4=
% B X A H A 20, 000 |[#51& Z b4
A 108, 800
adall (3, 500)




(3) #EHLBAETE

(HA7: )
# ¥ 4 &

o 3 - = F 4 XN =z i A = 30, 000
3 E&LHEOKR

OR-5 (R 2 5 5 )

x4 A0 TR HREEER

BUEE LA | v mass | mom poagg | BUER IAKR

M oB R B X £ 4, 656 492 664 4, 484

?A\ %ﬁ ﬁﬁé—g {Eﬁk %ﬁ jﬁ 4, 160 760 550 4, 370

BE FE M H W B fn 674 200 300 574

x 0o ft Ak E 3, 486 560 250 3, 796

%& = i&i M F %%1 & j\i 399 399

N (A T S 311 30 281

g %(ﬁ% %ﬁ mﬁ %ﬁg gfg 758 1 759 0

O I T T 61 23 38

T3 e N = E G e 35 12 23

oo e e i 575 165 89 651

B % " % K & 65 1 4 62

& 7 10, 943 1,419 2,131 10, 231
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- N ?ZB@%QQE}‘E?{ BRITCAEE %fmﬁfﬁ{gz’{

BUER LA | e msas | s e A | DUER RLIARE

jeis B k=3 * f& 8, 941 1, 225 1, 044 9, 122

N £ Ht vl f& 11, 347 650 959 11,038

B OB M | ME 439 108 331

BEORE M OB o3t RO ME 10, 908 650 851 10, 707

- 20, 288 1,875 2,003 20, 160
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